ROI Analysis Using Dupont Model
Show calculations

A. For Firm D				                       Firm D:
Calculate Margin			                       $27,900.00		Net Income
Calculate Turnover			                       $930,000.00	Sales
Calculate ROI				                       $465,000.00         Average Total Assets



B. For Firm E				Firm E:
Calculate Turnover			$75,000.00 		Net Income
Calculate Average Total Assets		$1,250,000.00		Sales
					15%			ROI



C. For Firm F				Firm F:
Calculate Sales				12.60%			ROI	
Calculate Margin			1,730,159.00		Average Total Sales	
Calculate Net Income			1.4			Turnover	
